जन – जन के लिये भण्डारण

WAREHOUSING FOR EVERYONE



केन्द्रीय भण्डारण निगम CENTRAL WAREHOUSING CORPORATION (भारत सरकार का उपक्रम) (A GOVT. OF INDIA UNDERTAKING) क्षेत्रीय कार्यालय :पटना/ REGIONAL OFFICE : PATNA



Dated: 29.04.2024

CWC RO-PAT/Engg/Khagaria/CCTV/NIQ/2024-25

NOTICE INVITING QUOTATION

Name of work: Supply, Installation, Testing and commissioning of IP CCTV System at CW-Khagaria.

Sealed percentage rate quotations in single bid system are invited from the Contractors for **Supply, Installation, Testing and commissioning of IP CCTV System at CW-Khagaria.**

Estimate cost for this work is Rs. 3,28,700.00. Bidders must submit EMD Declaration on their letter head as per format Annexure-AA.

The Quotation papers for the above work may be obtained from the Office of the Executive Engineer, Regional Office, Central Warehousing Corporation, Mauryalok Complex, Block-A, 2nd Floor, Dak Bungalow Road, Patna-800001 in working hours from 10.00 a.m. to 04.00 p.m. on or before <u>05.05.2024</u>.

The **quotations** are requested to quote the rate in schedule of work enclosed at **page No.05** and the quotation under sealed envelope superscribing the name of work shall be submitted to the **Office of the Executive Engineer, Regional Office, Central Warehousing Corporation, Mauryalok Complex, Block-A, 2nd Floor, Dak Bungalow Road, Patna-800001 up to 15.00 hours. on <u>06.05.2024</u> and the same will be opened at 15.30 hrs on the same day in the presence of quotationers/contractors who may wish to be present at the time of opening.**

The quotation papers can also be downloaded from the web site www.cewacor.nic.in and www.tenderhome.com.

The Central Warehousing Corporation reserves the right to accept or reject all/ any part of quotation without assigning any reason there-of.

Encl:

- 1. Schedule of quantity, Annexure-I (Page: 02).
- 2. Terms & Conditions, Annexure-II (Page: 03).
- 3. Performa for quoting the rate. Annexure-III (Page: 04).
- 4. Performa for EMD Declaration, Annexure-AA (Page:05)

Executive Engineer

Copy to:

- 1. The Regional Manager, CWC, RO, Patna.
- 2. Assistant Manager (A/Cs), CWC, RO, Patna.
- 3. Assistant Engineer, (Elect.) CWC, RO, Patna.
- 4. Warehouse Manager, CW, Khagaria
- 5. Notice Board of RO -Patna / CW-Khagaria

Page **1** of **5**

CENTRAL WAREHOUSING CORPORATION (A GOVT.OF INDIA UNDERTAKING)

Name of work: Supply, Installation, Testing and commissioning of IP CCTV System at CW-Khagaria.

Schedule of Works

Sl. No.	Name of Materials	Unit	Rate Qty		Amount
1	4mp IP bullet camera 50 metar CP plus	Nos	8250.00	16	132000.00
2	16 ch NVR 4mp CP plus	Nos	18200.00	1	18200.00
3	6TB Hard drive	Nos	18200.00	2	36400.00
4	CAT 6 wire	Meter	1000.00	40.00	40000.00
5	POE Switch	Nos.	7200.00	3	21600.00
6	POE Box	Nos.	750.00	3	2250.00
7	PVC Box	Nos.	350.00	16	5600.00
8	RJ 45 Connector	Nos.	35.00	50.00	1750.00
9	3x1.5sqmm flat Cu wire	Meter	58.00	300.00	17400.00
10	GI Pipe 50mm dia Medium class	Meter	600.00	30.00	18000.00
11	Civil Work including road cutting, laying the Pipe and its filling with suitable concrete material	Meter	650.00	30.00	19500.00
12	Service Charge (on per CCTV basis)	Nos.	1000.00	16	16000.00
	Total Amount in Rs.				

	Buy Back items				
Sl. No.	Name of Materials	Unit	Rate	Qty	Amount
1	Old 10 bullet Camaras and Old 16ch DVR	-	7500.00	L.S.	7500.00

SIGNATURE OF CONTRACTOR

EXECUTIVE ENGINEER

TERMS & CONDITIONS:

- 1. Works should be executed as per specifications.
- 2. Water & Electricity will be arranged by the contractor at his own cost.
- 3. All T&P required for the work shall be arranged by the contractor at his own cost.
- 4. The rates are inclusive all lead & lifts and GST etc.
- 5. All taxes Income Tax etc (Inclusive GST tax) as applicable will be deducted as per Govt. Rule from the Contractor bill.
- 6. 10% Security Deposit will be deducted from the gross bill amount & will be released after the defect liability period of 12 month which will be reckoned from the date of successful completion of the work. In case any defect is found within the defect liability period, the same shall be repaired by the contractor immediately at his own cost.
- 7. Contractor will be fully responsible to labour payments, accident, mishappening, damages & other Labour welfare & safety measures.
- 8. Time allowed for completion of work is **10 days** from the date as to be mentioned in the work order.
- 9. The above shown quantities are tentative & may vary as per site condition. The payment will be made as per actual quantity used at site.
- 10. All payments will be released through e-payments by CWC, RO-Patna.
- 11. GST or any other tax on input material or services used by contractor in respect of this contract shall be payable by the contactor and Central Warehousing Corporation will not entertain any claim whatsoever in this respect.
- 12. The rates quoted by the contractor should be Inclusive of GST.
- 13. In the event of any of the documents found fabricated / forged / tampered /altered / manipulated in the NIQ, he would be debarred for participating in CWC tendering for 5 years.
- 14. The party to whom the work will be awarded will execute a formal agreement with CWC on a non-judicial stamp paper of appropriate value.
- 15. In the event of failing to execute the work within quoted rate he would be banned for a period participating of 5 years in CWC tender / quotation.
- 16. Copy of self-attested Annexure AA, PAN CARD and GST Registration along with signed Quotation/tender document must be submitted. The bidder who fails to submit the same shall summarily be rejected.
- 17. In case of any item becoming out of order or defective or major defects noticed which cause complete dislocation of system during the currency of the contract and the defects are not attended and rectified by the contractor within a period of 24 hours from the time of receipt of intimation from the respective Warehouse Manager or his authorized representative, a penalty of Rs. 100/- per day for the number of days for which the system remains out of order and beyond 48 hours Penalty would be Rs. 200/- per day or the expenditure incurred by the CWC for rectification of the system through other agencies beyond the period of 48 hours whichever is higher will be levied on the bidder.
- **18.** The Contractor/Bidder will provide the Contact Details (Email ID/Mobile No.) on their letter head through which Warehouse Manager will lodge complain if any.
- 19. The rate quoted will remain valid for 60 days w.e.f date of opening of bid.

SIGNATURE OF CONTRACTOR

EXECUTIVE ENGINEER

जन – जन के लिये भण्डारण

WAREHOUSING FOR EVERYONE



केन्द्रीय भण्डारण निगम CENTRAL WAREHOUSING CORPORATION (भारत सरकार का उपक्रम) (A GOVT. OF INDIA UNDERTAKING) क्षेत्रीय कार्यालय: पटना/ REGIONAL OFFICE: PATNA



Annexure-III

Name of work Supply, Installation, Testing and commissioning of IP CCTV System at CW-Khagaria.					
Estimated Cost Rs. 3,28,700.00 (Rupees Three Lakh Twenty Eight Thousand Seven Hundred Only)					
a) I/We hereby tender our rates as	_% ABOVE the				
OR					
b) I/We hereby tender our rates as	_% 12.				
Note: 1. Quotationers should quote their percentage appropriately either at (a) Or	(b) as the case may be.				
2. No enhancement or abatement is applicable for credit value item.					
SIGNATURE OF CONTRACTOR	EXECUTIVE ENGINEER				

Performa for Earnest Money Deposit Declaration

(On Bidder Letter Head)

Whereas, I/w submitted		for				(name	of	work)
I/we hereby su	ıbmit following	g declaration	in lieu of sub	omitting Ea	rnest Mone	ey Deposit.		
*	opening of te					ring the peri	od of valid	ity of tender
				Or				
	award of work, tender docume		ign the contra	act, or to su	bmit perfor	mance guara	intee before	the deadline
I/we shall be so from date of is			shall not be e	ligible to b	id for Centı	al Warehous	sing Corpor	ation tenders
						Signature of	of the Bidde	er/Contractor